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Q.1:-_Answer the following in one or two sentences(any six) :- (12 Marks).

. Latent and manifest functions.

- What is Kinship ? What are the types of kinship ?
Ideal and practical norm.

. Ascribed and achieved status.

Purusharthas

Socialization,

. Folkways and Mores

. Accommodation and Assimilation.
Sanskritization and Westernization.

J. Polytheism and monotheism.

Q.2:- Write short notes on any two : (12 marks).

a. Indian Ethos

b. Cultural Diversity - Pluralism in India.
c. Theories of Social Stratification.

d. Sociology of Legal Profession.
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Q.3:- Answer the following.(Any two): (12marks).

a. In spite of the fact that leadership in India has repeatedly said that in
nation development aid and assistance of all religious communities is
needed, yet some important religious communities are not flowing in the
national mainstream.

1) Role of society and law in Curbing Communal Riots in India.
ii) Suggest remedial Measures for removing Communalism.

b. Caste System in India is a very close system in which members of one
caste can not change their caste. Once placed in a caste they are bound
to remain there.,

1) What is the role of education in bomal change ?
i1) Suggest remedies for inter caste marriage and social mobility.
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c. Women are playing multiple roles, Still gender differences continue.
Discuss :-
i) Gender Socialization.
ii) The Conflict Perspective.

d. “ India is becoming a destination of mob lynching.”
i) Discuss the causes of mob lynching or murders due to religious
conflicts.
ii) Suggest remedial measures.

Q.4:- Answer in detail.(Any two): (24 marks).

a. Explain the importance of religious institution along with the theories of
religion,

b. Elaborate on the contributions made by Max Weber to Sociology.

¢. Discuss the problems faced by SC, ST and OBC in India.

d. Define and explain in brief the various types of marriage. Bring out the
changes seen in the institution of marriage.
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Answer in one or two sentences- (any six)
I. Criminology and penclogy

What is sociology of law.

Role conflict and role strain.

Define Community.

Types of social interaction.

Forms of competition.

Causes of social disorganisation.

Power and authority.

Polyandry

e e

Short notes- (any two)
1. Theories of Social change.
2. Marriage.
3. Social groups.
4. Socialisation,

Situational questions- (any two)
1. Recently it was declared that match fee for women cricketers wil
same as male cricketers,
A) What are the problems faced by female sportsperson,
B) Suggest remedial measures for gender discrimination.

2. Diwali celebration always brings up the debate on the effects of
crackers on the environment.

[ Marks: 60]
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A) Does a ban on crackers violate the right of celebrating festivals.
B)Role of social agencies in making people aware of environmental

issues,

3. A lot of young people are not marrying out of choice.
A) Is definition of marriage changing with changing times,
B)ls'there a clash between culture and 1nd1v1dual choice when
taking marriage related decisions

4. The war, belween Russia and Ukra:ne has beén going on for months

now.

A} Is it because of the failure of the pulmcal institutions or leaders

‘of the two countries
‘B)Role 01“ the UN durmg times of conflict.

AnSWEr in brief- (any two)

24

l. Explmn whether sociology is a science or not,the scope and methods

of sociology. -
2. Forms of snmal conflict and nature of social control.
3. Define Culture,it's characteristics and importance of culture
4, T}rpes of marriage arid it’s relevance in modern times,
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